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7268 7268.5 s 7269.5 7.
cyclenum

deltad46_12X4eY:cyclenum {run == 6909}

7268 7268.5 s 7269.5 7.
cyclenum

nd
&

alpha46_4eY4aY
N

15

0.5

6911

3910.5

6910

3909.5

6909

3908.5

6908

5907.5

6907

alpha46_4eY4aY:cyclenum {run == 6909}

r X
7268 7268.5 7 7269.5 7
cyclenum
run:cyclenum {run == 6909}

7268 7268.5 7269 7269.5 7270
cyclenum

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 6909}

A R R A

7268 7268.5 7269 7269.5 7270
cyclenum

segment:cyclenum {run == 6909}

7268 7268.5 7269 7269.5 7270
cyclenum




-60

-100

-120

usl_4eY

18

16

14

12

10

usl_1X:cyclenum {run == 6909}

7268 7268.5 7269 7269.5 7270
cyclenum

usl_4eY:cyclenum {run == 6909}

7268 7268.5 7 7269.5 7

cyclenum

usl_4ay

usl_4aY:cyclenum {run == 6909}

Ko

7268 7268.5 7 7269.5 7

cyclenum

usl_12X:cyclenum {run == 6909}
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usr_1X:cyclenum {run == 6909}
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7268 7268.5 7 7269.5 7
cyclenum

usr_12X:cyclenum {run == 6909}
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usl_coill:cyclenum {run == 6909} usl_coil3:cyclenum {run == 6909} usl_coil4:cyclenum {run == 6909}
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1X_coill:cyclenum {run == 6909} 1X_coil3:cyclenum {run == 6909} 1X_coil7:cyclenum {run == 6909}
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